	М – 6





В – 1

Раскрытие скобок

1. Раскройте скобки в выражении: – (х + 4у – 3а)

а) – х + 4у – 3а
б) – х – 4у + 3а
в) – х – 4у – 3а

2. Вычислите: 4,4 – (4,4 – 8,76)

а) 8,76

б) – 8,76
в) 17,56

3. Вычислите: 5,8 – (22,6 + 9,8)

а) 26,6

б) – 26,6
в) – 22,2

4. Выполните действия: (2,5 – 3,8) – (4,7 – 3,6)

а) 2,4

б) – 7,2
в) – 2,4

5. Решите уравнение: 5 – (– х – 7,2) = 8,6

а) 2,6

б) – 3,6
в) 10,8


	М – 6





В – 3

Раскрытие скобок

1. Раскройте скобки в выражении: – (– х – 3у + 2а)

а) х + 3у + 2а

б) х + 3у – 2а

в)  х – 3у + 2а

2. Вычислите: 2,3 – (2,3 – 5,84)

а) – 5,84

б) – 1,24
в) 5,84

3. Вычислите: 13,4 – (19,6 + 6,4)

а) – 12,6

б) 0,4

в) 39,4

4. Выполните действия: (1,8 – 4,9) – (2,3 – 4,9)

а) – 0,5

б) – 9,3
в) – 10,3

5. Решите уравнение: 3 – (– х – 9,9) = 5,7

а) 7,2

б) – 18,6
в) – 7,2


	М – 6





В – 2

Раскрытие скобок

1. Раскройте скобки в выражении: – (2а – х + с)

а) – 2а – х – с 
б) – 2а – х + с

в) – 2а + х – с

2. Вычислите: 7,43 – (5,9 + 7,43)

а) – 5,9

б) 13,3

в) 5,49

3. Вычислите: 14,7 + (9,4 – 17,4)

а) – 6,7

б) 6,7

в) 2,7

4. Выполните действия: (4,2 – 6,7) + (6,7 – 8,1)

а) – 3,9

б) – 17,3
в) – 4,9

5. Решите уравнение: 10,3 – (5 – х) = 7

а) 1,7

б) – 2,7
в) – 1,7

	М – 6





В – 4

Раскрытие скобок

1. Раскройте скобки в выражении: – (3а – х – 2с)

а) – 3а + х +2с
б) – 3а – х – 2с
в) 3а + х + с

2. Вычислите: 8,19 – (10,2 + 8,19)

а) – 6,18

б) 6,18

в) – 10,2

3. Вычислите: 2,1 + (4,9 – 8,9)

а) – 1,9

б) 5,1

в) – 5,1

4. Выполните действия: (11,3 – 15,8) + (9,2 – 11,3)

а) 6,6

б) – 6,6
в) 2,4

5. Решите уравнение: 9,24 – (8 – х) = 2

а) 0,76

б) – 1,24
в) 3,24




